


AL,

37

._.___..u
<0

A

37

._._“_..u
)




O WAl AltsHA L.

— +3+5




2+-5=2x

— ™

— | D~

— <

— [

._.___..u
&0




1 —
217 kg® LT 3 -gAol o] thre] Hkaynh ©] 5284

5 Aol Sgro] Lol Zbaela gk, @ Algol 9 kg 7HAH

2 1 5
@ —1? kg ) 1glkg © 22 ke
7z k 14- k
@ 3 g ® 5 g

387 % 2 34 A4 2 ol

5
1 2

21-X = +5=—FX
43 ;2(

X

W™ =




AR

A 22m 7t e o 2

6.

9
714




)

AEY 302 0] 5

S 31
= H

ol® Zof 18

7.

7H?

0 1=

T
<k
el




8.

=5, =a2 A o, th A2 S FHHALL.

s . o
o =thertelze
;}x4:1/]-+7}><4
2 a
:4?—5X4
30
:775)(4
301
:7X§X4
%

7
3
=52
7




9. T UeAle] Bo] 375 HTatY >, = <2 duH JERfA L.

7 7
— +4 —-+5
9 40y

> =

> =g >

7 7 1 7

VS S ST YV

9 91 36 1Y

7 7 1 7

L S ANS- S y ST I

9 9%5 15

gata L 5> L gy

36 ~ 15




10.

1

D 1=m @) 3?m ® 72111
1

@)15-m ® 20-m

66 1
=9-+6=— X+
i
11 4
= — =1-
11 22
(B B9 del) = 12+ — x 212+
1
=12+ 3=
+97

1
= 15? (m)




